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ERRATUM 
 

TO: CHIEF EDUCATION SPECIALISTS  
DISTRICT CURRICULUM COORDINATORS 
DISTRICT ASSESSMENT OFFICIALS (DAOs 
DISTRICT SUBJECT ADVISORS (DSAs)  
PROVINCIAL SUBJECT COORDINATORS 
CIRCUIT MANAGERS 
DEPUTY CHIEF EDUCATION SPECIALISTS 
SENIOR EDUCATION SPECIALISTS 
PRINCIPALS OF SCHOOLS IN THE FET BAND 

  
SUBJECT: ERRATUM – PHYSICAL SCIENCES P2 GRADE 12 JUNE COMMON 2024 
  
DATE: 07 JUNE 2024 
 

 
The Physical Sciences P2 Grade 12 June Common Examination was written on Monday, 03 
June 2024. We were made aware of certain amendments and omissions that were discovered 
during the marking process and memorandum discussion on the provided marking guideline.  
 
In order to address this and to ensure that learners are not disadvantaged, the following 
standardised approach to marking must be adopted across the Province. The following 
guidelines regarding marking was prepared in conjunction with the examiner and moderator. 
 
 

 

Page Question Recommendation 

3 1.3 No correct answer in Afrikaans 
version: 

Current answer: A 

Mark Question 1 out of 18 marks 

    

5 1.8 Language error in English version. 

Current answer: C Accept both A and C 
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11 4.1.6 Incorrect answer on marking 
guideline /  

Current answer: 

Mild heat and dilute strong 
base/LiOH/KOH/NaOH 

Correct answer: High temperature and 
HBr  

(see CAPS page 112) 

    

 4.2.5 Error on marking guideline: 

2 C4H10 + 13 O2→ 8 CO2 + 8 H2O 

Correct answer 

2 C4H10 + 13 O2→ 8 CO2 + 10 H2O 

 
The Afrikaans version has no correct answer on Question 1.3. 

Mark the Afrikaans paper out of 148 and convert it to 150 marks as shown below 

 Converted mark   = 
𝑙𝑒𝑎𝑛𝑒𝑟 𝑚𝑎𝑟𝑘

148
 × 150 

                Example 

if a learner got 80 out of 148 the converted mark must be calculated as follows: 

  Converted mark = 
80

148
× 150 = 81,08   ∴ = 81 

 

We sincerely apologise for any inconvenience we might have caused. 

 

Yours in education.  
 

 

 

 7 June 2024 

MRS P.E. JAPHTA  DATE 
(A) CES: AIDIBM SUBDIRECTORATE   

 


